Statistics 1601

ASSIGNMENT 1: CHAPTER 1 (25 points)

All problems taken from Introduction to the Practice of Statistics, Fifth Edition by David S. Moore and George P. McCabe.

Please either e-mail assignment to math1601@cda.morris.umn.edu or type your solutions into the online form.
1.17 (4 points) People with diabetes must monitor and control their blood glucose level.  The goal is to maintain “fasting plasma glucose” between about 90 and 130 milligrams per deciliter (mg/dl).  Here are the fasting plasma glucose levels for 18 diabetics enrolled in a diabetes control class, five months after the end of the class:

Make a stemplot of these data and describe the main features of the distribution.  (You will want to trim and also split stems.)  Are there outliers?  How well is the group as a whole achieving the goal for controlling glucose levels?

ANSWER:

1.18 (3 points) The study described in the previous exercise also measured the fasting plasma glucose of 16 diabetics who were given individual instruction on diabetes control.  Here are the data:

Make a back-to-back stemplot to compare the class and individual instruction groups.  How do the distribution shapes and success in achieving the glucose control goal compare?

ANSWER:

1.24 (6 points) Burning fuels in power plants or motor vehicles emits carbon dioxide (CO2), which contributes to global warming.  Table 1.6 displays CO2 emissions per person from countries with population at least 20 million.

(a) (2 points) Why do you think we choose to measure emissions per person rather than total CO2 emissions per country?

ANSWER:

(b) (4 points) Display the data of Table 1.6 in a graph.  Describe the shape, center, and spread of the distribution. Which countries are outliers?

ANSWER:

Table 1.6:  Carbon dioxide emissions, metric tons per person

	Country
	CO2
	Country
	CO2
	Country
	CO2

	Algeria
	2.3
	Italy
	7.3
	Poland
	8.0

	Argentina
	3.9
	Iran
	3.8
	Romania
	3.9

	Australia
	17.0
	Iraq
	3.6
	Russia
	10.2

	Bangladesh
	0.2
	Japan
	9.1
	Saudi Arabia
	11.0

	Brazil
	1.8
	Kenya
	0.3
	South Africa
	8.1

	Canada
	16.0
	Korea, North
	9.7
	Spain
	6.8

	China
	2.5
	Korea, South
	8.8
	Sudan
	0.2

	Colombia
	1.4
	Malaysia
	4.6
	Tanzania
	0.1

	Congo
	0.0
	Mexico
	3.7
	Thailand
	2.5

	Egypt
	1.7
	Morocco
	1.0
	Turkey
	2.8

	Ethiopia
	0.0
	Myanmar
	0.2
	Ukraine
	7.6

	France
	6.1
	Nepal
	0.1
	United Kingdom
	9.0

	Germany
	10.0
	Nigeria
	0.3
	United States
	19.9

	Ghana
	0.2
	Pakistan
	0.7
	Uzbekistan
	4.8

	India
	0.9
	Peru
	0.8
	Venezuela
	5.1

	Indonesia
	1.2
	Philippines
	0.9
	Vietnam
	0.5


1.89 (3 points) The heights of women aged 20 to 29 are approximately normal with mean 64 inches and standard deviation 2.7 inches.  Men the same age have mean height 69.3 inches with standard deviation 2.8 inches.  What are the z-scores for a woman 6 feet tall and a man 6 feet tall?  What information do the z-scores give that the actual heights do not?

ANSWER:

1.110 (4 points) Too much cholesterol in the blood increases the risk of heart disease.  Young women are generally less afflicted with high cholesterol than other groups.  The cholesterol levels for women aged 20 to 34 follow an approximately normal distribution with mean 185 milligrams per deciliter (mg/dl) and standard deviation 39 mg/dl.


(a) (2 points) Cholesterol levels above 240 mg/dl demand medical attention.  What percent of young women have levels above 240 mg/dl?

ANSWER:

(b) (2 points) Levels above 200 mg/dl are considered borderline high.  What percent of young women have blood cholesterol between 200 and 240 mg/dl?

ANSWER:

1.116 (5 points) The quartiles of any distribution are the values with cumulative proportions 0.25 and 0.75.

(a) (1 point) What are the quartiles of the standard normal distribution?

ANSWER:

(b) (2 points) Using your numerical values from (a), write an equation that gives the quartiles of the N((, () distributions in terms of ( and (.

ANSWER:

(c) (2 points) The length of human pregnancies from conception to birth varies according to a distribution that is approximately normal with mean 266 days and standard deviation 16 days.  Apply your result from (b): what are the quartiles of the distribution of lengths of human pregnancies?

ANSWER:

TOTAL:___/25

141	158	112	153	134	95	96	78	148


172	200	271	103	172	359	145	147	255








128	195	188	158	227	198	163	164


159	128	283	226	223	221	220	160











